PR

Salo Facing

To Pivot Shaft

To Master Cylinder

YAMAHA FZ-09 / MT-09/SP (*17-20)
REVERSE SHIFT REAR SETS

(for OEM Yamaha quick-shifter) part# Y-MT0917RSR

[R]

To Pivot Shaft

Attach the stock
Pull Switch/ Spring

attach HEEL GUARD (#1)
behind STEP PLATE (#3) 1

To Shifter Switch

LUOO'ﬁl”OEJO].ES

1. (L) HEEL GUARD [HG-3L]
2. (R) HEEL GUARD [HG-23R]
3. (L) STEP PLATE

4. (R) STEP PLATE

5. (L) EXTENSION PLATE (BK)

6. (R) EXTENSION PLATE (BK)
7. (L) BASE PLATE (BK)

8. (R) BASE PLATE (BK)

9. SHIFT PEDAL [SPD-3]

10. SHIFT ROD 80 (BK)

11.
12.
13.
14.
15.
16.
17.
18.
19
20.

*The lowest position holes are not for use with this rear sets model.

BRAKE PEDAL [BPD-RS4125]
MASTER STAY

FOOT PEG x 2

FOOT PEG END CAP x 2
PEDAL TIP (DELRIN) [ST-001D18] X 2
ROD END COLLAR 15 (BK)

PEG COLLAR 12

SOCKET HEAD M5x35mm

. SOCKET HEAD M8x15mm x 8

BUTTON HEAD M6x10mm x 4

21.
22.
23.
24.
25.
26.
27.
28.
20.
30.

BUTTON HEAD M6x20mm x 2 31.
BUTTON HEAD M8x25mm x 3  32.
33.
34.
35.
36.

HEX HEAD M5x6mm
HEX HEAD M6x18mm
HEX HEAD M6x30mm
HEX HEAD M8x40mm
STUD BOLT M8x50mm
PEG WASHER M8 x 2
BEARING COLLAR SUS
SPLIT WASHER M8

0//]

777}

NUT M5

REVERSE JAM NUT M6
FLANGE LOCK NUT M8S
REVERSE MALE ROD END M6
FEMALE ROD END 6-M8
PULL SWITCH STAY 16

BRAKE RETURN SPRING 40
(Not Pictured)



